4000

750

Pos

Art. nr.

Beskrivelse

60000

Skinne 310 3 mm

60200

Sigmastolpe

WIN | =

60608

Festesats sigmastolpe

Bolt M10x40

Skive 115x40x5

Skive 30x30x3

Mutter M10

60640

Skjotebolt

Skjoteskrue M16x25

Skive 17/30

Mutter M16

Dato

20.06.08

Tegnet

LMH

Malestokk

A4 ® & 66 6

1:10

Godkjent ihht. NS EN 1317
Styrkeklasse N2
Sikkerhetsklasse A

CC 4 meter W=5 (1,7M)

Skinne 3 mm montert

pa sigmastolpe
CC 4 meter

VIKGrsta

40001

Revisjon

B

www.vikorsta.no




